TIME - 3 HOURS ' MAXIMUM MARKS - 100

_General Instructions
(i) Q.No. 1 to 4 carry 1mark each.
{ii) Q.No. 5to 12 carry 2 marks each.

(i) QNo13 to23camydmarkseach.
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Write in simplest form tan‘{ -

1 Differentiate  Sinvx + Cos™x
8. Evaluate [ ;5"_ dx
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and (4,4). SRS ) e ST
C has donated 10 % ,15 % and 20 % of
matrix multiplication.

By such donations, which

e ,three trust A,B and

13. For well being ofan orphanag
Their total fund 2,00,000, 3,00,000 and 5,00,000 respectively. Using
Find the total amount of money received by orphanage by three trusts.

values are generated?

et 5:-1'-1-241—?} L dy
Wy = om {T,thenﬁnddx
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Evaluste ‘[ 32x3+x-—3
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By using properties of determinants, prove that
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Show that the function f{x) = |x—3]| , x€R, is continuous but not differentiable at x=3

Or
if x = a(Cost +tSint) and y = a(Sint—tCost), find s

Prove thatthecurves x = y? and xy =k cut at right angles if 8k% = 1

per Second. How fast is the area decreasing L

Verify Mean Value Theorem , if f(x) = x* - 5x® - 3x in the interval [a, b], where a=1and b =3.
Find all c€ (1, 3) for which f‘(c)=0. :
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Prove that Sin {17}"'5'“ {5] = Cos {35]

W 3,b ,carein AP, then evaluate the determinant
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Evaluate J"'; (x + e**)dx as thelimit ofa sum.
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25 Solve the system of fc ﬁf‘\
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26.  Show that height ofiﬁg | t volume whlch can be inscribed in a right 4
circular Cone of height h mmaﬂgle o is one third that of the cone and the
greatest volume nftheqﬁﬂis -— nh? tan’x.
Or
vae that the volume nfﬂae’hﬁaﬁﬁntmn be inscribed ina sphere ofradius R is _
cif' the volume of ﬂlESphere 6\
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b7 (a) Evaluate [xsin®x dx (b) Evaluate [ T '{”‘q_ =
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8. (a) Evaluate fﬁ'fx—_—sm dx  (b) Differentiate with respecttox, y = logz(log x) .2 "'
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g, (a) Find the mtenfal in which the function f{x) = 2°- 3x* - 36x +7 lsstmﬂymeasngur o ,;*
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~ (a} Show thatthe function given by f(x)= 22Z has maximum at x=e 44._‘
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{b) Evaluate [+1—4x—x? dx 7
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